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Let's make some conversion factors...

1)  1 oz = ____ g 2)  1 t = ____ tn
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Remember...  1 kg = 2.2 lbs

EXAMPLE 2:  

Mrs. MacAllister is baking apple pies.  According to her recipe, she needs 
6 pounds of apples.  The bag of apples she bought only shows the weight in 
kilograms.  Can you help her out???

Solution is... 2.7 kg

NOTE:  To estimate a 
conversion from pounds to 
kilograms you can think of a 
pound being about 1/2 kg.
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EXAMPLE 3:  

The cost of bananas at the Irving is $0.79/lb, but you see an 
advertisement 
for bananas on sale at Sobey's for $1.33/kg.  Which is a better buy?
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Remember...
SI (metric)...

1 g = 1000 mg
1 kg = 1000 g
1 t = 1000 kg

Imperial...

1 lb = 16 oz
1 tn = 2000 lb

28.4 g = 1 oz
1 kg = 2.2 lbs
1.1 tn = 1 t
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WARM­UP:  Convert the following...

a)  56 g = _____ oz

b)  120 lbs = ______ kg

c)  34 oz = ______ g

1.97

54.55

965.6
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Worksheet ­ Converting Imp_Metric Masses.pdf

HOMEWORK...

Do even #'s

p. 209 #1 ­ 4 & 6

Wednesday Quiz... up to here!
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SOLUTIONS...
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5.3 Worksheet ­ Mass in a SI System.docx

Worksheet ­ Converting Imp_Metric Masses.pdf
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5. Karen is making a batch of potato soup. She
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Section 5.3 - Mass in a SI System

PRACTISE YOUR NEW SKILLS

Convert the following weights.

a) 25t By 2ifkge s
Q25 St _kg d) 24g=_____ S
e lt= b 3 6mes kg

How many tons are in 1 tonne?

What is the total weight in grams of 3 packages of nuts weighing 1.2 kg, 0.75 kg,
and L5 ke?
Win weighs 78 kg and his dog weighs 18 kg, If his truck weighs 1.9 1and there are

5 boxes of books each weighing 9.8 kg in the truck, what is the total weight of the

wruck, including Win, his dog, and the books?
needs 8 potatoes, and each poato

weighs about 375 g How many pounds of potatoes does she need?

1 2 10-1b bag of grass seed costs $75.45, how much does the seed cost per kilogram?

How many quarer-pound (before cooking) hamburgers can you make from 1.9 kg

of ground beef?
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